(BA{sL :mg/1)

ih 1 44 32 18 2A 3A 48 5A8 68 718 (%@% 8A 9A 108 118 128 |FEHEA| 75%fE

RO 1.6 3.0 2.4 4.0 1.3 v & 2.3 2.4 3.7 1.6 4.9 1.6 1.7 2.6 3.7

+FrEAE RO2 1.6 1.2 15 1.7 5.3 & 2.0 2.2 2.2 3.6 3.4 1.6 2.9 2.5 2.9
RO3 2.0 15 2.0 1.6 4.8 & 2.2 2.4 2.4

RO 3.2 4.0 3.6 4.6 3.6 4.1 2.6 3.7 2.9 1.7 2.9 3.2 3.4 3.3 4.0

= NFHE RO2 3.5 3.2 2.7 2.1 3.5 3.5 2.2 3.0 2.3 2.6 3.2 2.3 3.9 2.9 3.5
RO3 3.5 3.7 3.0 2.5 3.2 2.9 1.8 2.9 2.9

B RO 5.4 2.6 3.1 3.7 2.9 3.0 2.2 3.3 2.3 1.3 2.5 2.4 3.0 2.9 3.0

=l EH= X RO2 4.1 3.3 3.0 2.1 2.7 3.1 1.7 2.9 2.1 1.8 2.1 2.4 3.0 2.6 3.0
RO3 4.2 3.6 2.4 2.1 2.6 2.5 14 2.7 2.7

RO 3.7 4.1 4.2 3.5 2.7 3.1 2.0 3.3 2.4 1.2 2.1 1.9 3.1 2.8 3.5

FEEas RO2 3.9 2.7 2.6 2.3 2.9 2.5 15 2.6 1.6 14 2.4 2.2 3.3 2.4 2.7
RO3 4.2 3.6 2.2 2.1 2.6 2.2 1.3 2.6 2.6

RO1 2.9 2.6 2.8 3.0 2.7 2.2 14 2.5 1.9 1.2 1.8 2.0 2.2 2.2 2.7

E=E RO2 2.9 2.5 2.0 1.9 2.3 1.9 1.4 2.1 1.2 1.1 1.1 1.9 2.2 1.9 2.2
RO3 3.2 2.9 2.1 2.0 1.7 1.2 1.3 2.1 2.1

RO 2.2 0.6 2.2 2.7 2.1 2.0 14 1.9 1.8 1.0 1.8 1.2 1.8 1.7 2.1

X A RNFE RO2 2.2 2.1 15 15 2.3 1.8 1.2 1.8 1.3 1.0 1.1 15 1.7 1.6 1.8
R RO3 2.4 2.4 1.6 1,5 15 1.0 1.0 1.7 1.7

RO 1.6 2.1 1.9 2.2 2.4 1.8 14 1.9 2.1 0.9 1.7 1.6 1.7 1.8 2.1

fF |=ZEHEUKO[ RO2 1.6 1.7 1.3 1.2 2.3 2.3 1.4 1.7 1.2 1.0 1.5 1.2 1.8 1.5 1.7
RO3 1.9 2.5 1.6 14 15 0.9 1.2 1.6 1.6

RO 1.8 2.8 1.9 2.1 2.3 2.0 14 2.0 2.2 1.0 1.8 1.3 1.7 1.9 2.2

=E/NEFFE | RO2 1.8 1.8 1.4 1.4 2.2 2.2 1.1 1.7 1.2 1.1 1.6 1.2 1.8 1.6 1.8
RO3 2.3 2.0 1.7 1.6 14 1.1 0.9 1.6 1.6

RO 3.5 3.4 3.3 4.0 2.6 3.4 2.3 3.2 2.8 15 3.1 2.3 2.8 2.9 3.6

ZREFH RO2 3.3 2.6 2.5 2.1 3.6 3.0 1.9 2.7 2.1 2.4 2.8 2.1 3.3 2.6 3.0
RO3 3.5 3.1 2.4 2.1 3.3 2.5 1.7 2.7 2.6

RO1 2.1 2.0 2.2 2.5 2.4 2.0 14 2.1 2.0 1.0 1.8 15 1.9 1.9 2.3

KB AT T4 RO2 2.1 2.0 1.6 15 2.3 2.1 1.3 1.8 1.2 1.1 1.3 15 1.9 1.6 1.9
RO3 2.5 2.5 1.8 1.7 15 1.1 1.1 1.8 1.7

RO 2.8 2.7 2.8 3.2 2.5 2.6 1.8 2.6 2.4 1.2 2.4 1.9 2.3 2.4 2.9

ALY | RO2 2.7 2.3 2.0 1.8 2.9 2.5 1.6 2.3 1.6 1.7 2.1 1.8 2.6 2.1 2.5
RO3 3.0 2.8 2.1 1.9 2.4 1.7 14 2.2 2.2




